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τ*=1,2,8 

j ~  ρ2  for r/R* > Ro,


  = 0  otherwise 
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Fe XVII
 τ* = 2.0


Ro = 1.5 




68, 90, 95% confidence limits
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Results from the 3 line fits shown previously








τ*(λ) trend consistent with κ(λ) 




τ*(λ) trend consistent with κ(λ) 


M becomes the free parameter 
of the fit to the τ*(λ) trend




Traditional mass-loss rate:  
8.3 X 10-6 Msun/yr


Our best fit:  
3.5 X 10-6 Msun/yr




Fe XVII
Traditional mass-loss rate:  
8.3 X 10-6 Msun/yr


Our best fit:  
3.5 X 10-6 Msun/yr






Ro = 1.6 R*

τ* = 0.3




Ro = 1.6 R*

τ* = 0.3




Ro = 1.5 R*

τ* = 0.6




Ro = 1.8 R*

τ* = 1.4


M-dot ~ 5 X 10-6 Msun/yr






ζ Pup mass-loss rate < 4.2 X 10-6 Msun/yr
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